VIFEHER (8[EA)

8. [RIRIRDITH

A ENFEARRE B DWW TR L 7z, SENIESIRZISH LT, Ty ey v o) 2 [HH—
M7TIEN) 2R S 5.

A 8-1
TR p B a (ged(a,p) =1) EEZ 5.

(1) a>=1 (mod p) D& E, a=+1 (mod p).

(2) a 23 p OFEMARD L = 0" = —1 (mod p).

(3) a AL p DFIARO L %, {R,(1), Ry(al), Ry(a?),..., Ry(a?P~2)}={1, 2, ...,p—1} T
Hb. 12721, Ry(n) 13BEn % p THoZRDZERT.

\_ J

[FEFA]
(1) (a—=1)(a+1)=0 (modp) &D,pla-1%F%kEpla+l XoTa==l (mod p).

(2) Zz=—D/NEH XD

a?” ' =1 (mod p).

—
S
‘v
wl |
-
~—
S
11l

(1) %8 a7 =+1 (mod p) ¥4 %. a FFIRTH 205 a" = —1 (mod p).
(3) RBE D MLDZ L ITHEET 5.

{R,(1), Ry(a"), Ry(a®),..., Rpy(a® 3} C {1, 2, ...p—1}.

oT R,y(1), Ry(a'), Ry(a?),..., Ry(aP~2) DSHHEL 2 Z 2RI L.

Ry(a?) = Rp(a®) (0 <i<j<p-2)&33. o =a (modp) £V o/~* = 1 (mod p).
a ZFEBREDTp -1 | j—iTH3. 0<j—i<p-—2&bj=idE>. BlEXD
R,(1), Ry(a'), Ry(a?),..., Ry(aP~2) 1FHER 3.

O

EIE 81 (VLY VDER)
FRpicxdLT
(p—1D!'=-1 (mod p).




Bz
p=20t XIHLLRDOT, p PAEBOBEEZE RS, filid 8-1(3) &b

p—2 p—2 p—2
(p—1) = H R,(a") = H a = (apTﬂ) (mod p).
=0 i=0

81 (2) &b

THY, p-23FTBE»S

fIRE 8-1 FREpITHLT

_(p—1
I-( 5 )!
YEL. ZDE, PR pTH R ERD K.
fIRE 8-2 HHEKp t HARE nITHL T
I=1"+2"+---+(p-1)"

YEL. IDE IR p TEHERDERD L.

EIE 8-2 (F—ITER)
BB p ITHLT,

2> =—1 (mod p) BME%EFD < p=1 (mod 4).

[FEFA]
= ZDOWT. 2= -1 (mod p) 23t 2L 5. 7z~ —D/PNEHLD

p—1

(1)

> T 22 3. o Tp=1 (mod4).
S WZDOWT. a ZiEp DR E T 5. A 8-1(2) &b

P~ =1 (mod p).

1N 2 .
(apT> =a" =—-1 (mod p).

o T 2? = —1 (mod p) DIREFFD.



EIiE 8-3
HEB p T L TRIZFETH 3.

(1) 22 +y? = p W TER 2,y DIFET 5.

(2) p=1 (mod 4).
-

[SEBA]
(1) = (2). pBFHED, 2,y DEBSPDE, b5 —HIMEHTHS. koT

x=2s, y=2t+1 (s,t €7Z)
ELTEV. 2D X,

p=2+y* =4(s>+t?+t)+1=1 (mod 4).

(2) = (1). B—WFTRIEDS o® +1 = pb ZHiTzTHAR o, b DENZ. £E
S={(z,y) ez’ | 0<z,y<[Vp]}
BEZD. ZIT, [2)ldr BBARORKOBERERT. oL X,
15| = ([vp] +1)* > p.

FoT
Ty —ay =22 —ayz (mod p)

Zii7z THER BT (v1,v91), (x2,y2) E SHEIET S. 23 =21 — T2, ys =y1 — Y2 LHEL &
0<a23+y35 <2p. )
r3 =ays (mod p) &b
w3 +yi=(a® +1)y3 =0 (modp). (&)

K (Q), (%) £V af+ 93 =p.

& 8-3

(1) ROFEXZRE.
(22 + 1) (s> + %) = (zs — yt)? + (xt + ys)2.

(2) 22 +y? = 65 Zli/- TREOM (v,y) Z—2OKD X.
(3) 22 + 9% =110 27z TREOM (z,y) IFELRVI & E2RE.



